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A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate 3 to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :
Options :

- 2ap o

t

8643517831, (@ T P)

o B
2(x + B)

t2

8643517832.

dap 2
(e + B)

8643517833

o B 2

4 (o + B)
8643517834.

Question Number : 1 Question Id : 8643512611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T TSI RERTURLT BTl 9% « Tdae R S ©RUiG Bd 9 Fax p ReR S Ia@xl e

R 8. WY TQUN lTeiell 965 | Hohe 38, UHUI UN heled dX  IE.
Options :
2ap {2
(e + B)
8643517831.
B2
2(a + B)
8643517832.
da B tg
(@ + B)
8643517833.
af o
4 (o + B)
8643517834.
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Question Number : 2 Question Id : 8643512612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
1, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g=acceleration due to gravity)

&

Options :

8643517835,

2

i
mj g 1
[ nsR

8643517836.

8643517837.

2
i)
mj g 4 R W
L
8643517838. \ i

Question Number : 2 Question Id : 8643512612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643517835.
o2
m(y RW
A, g J
8643517836.
m g
B /
8643517837.
2
m(g_ I W
L Hs R J
8643517838.

Question Number : 3 Question Id : 8643512613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 J per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643517839. ]
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8643517840, 1000 ]

2
8643517841. 3200 ]

8643517842. 1300 ]

Question Number : 3 Question Id : 8643512613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PRACd A 400 K 9 800 K 7e &1 {1 3 509 B Uapl Febrarel 1200 ] 8. Udd

i

IHTS] ST HAHIAE YRGel Felell 9H Hall 8.

Options :
ZaE
8643517839. A

8643517840. 1600 ]

A9V
8643517841. ]

1800 ]
8643517842,

Question Number : 4 Question Id : 8643512614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :

4
8643517843, 10w T
3 _
8643517844, 2 <10 "w T
Sl
F

8643517845.
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==

m T
8643517846.

Question Number : 4 Question Id : 8643512614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl Hede 1000 d¢ I¥eicdl dieigsal 3ldl ARl |U& URidl 500 3. WHieHisswl
YT dee 5 A fde[d a1 91 <Id.  HieiHiser @R helell g AfHaE o=l

. (Fad dERuied URdi=4+ % 10”7 H/m)

Options :

104w T
8643517843.

2x10 3¢ T
8643517844.

o

7

8643517845.

a T
8643517846.

Question Number : 5 Question Id : 8643512615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current of 10 A exists in a wire of crosssectional area of 5 mm?® with a drift velncit}f of

2x10" 3 ms~ 1. The number of free electrons in each cubic meter of the wire is -
Options :
6
8643517847, 210

23
8643517848, 1 <10

3 25
8643517849, 625 %10

25
8643517850, 2% 10

Question Number : 5 Question Id : 8643512615 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

5 mm2 PIHFEFA §Ahd Feicdl T 10 A Tdel YRT 318 T 3Udad 9 2x 10 3 ms~!

dE. & INGIA Ydd °9 HiewAdid gad Seldgl9dl W& S
Options :

2x 106
8643517847.

1 %1023
8643517848.

625 x 1023
8643517849.

2x 102
8643517850.

Question Number : 6 Question Id : 8643512616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length [ which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L, which lies in the positive z direction and the angular momentum of
M about point B is L;. The correct statement for this system is :

Options :

L, and Ly are both constant in magnitude and direction
8643517851.
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8643517852.

8643517853.

8643517854.

Question Number : 6 Question Id : 8643512616 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L, is constant, both in magnitude and direction

LE is constant, both in magnitude and direction

Ly is constant in direction with varying magnitude

| <A doiava SIS M aaH Siferdt 3 o ReR @18 o goie &89 . M
TGH ReR I ag@e ugEwna ReR Brae foEE e o A Hadl fer ageer
TR @ Taeen &R DIFT 91 a8, M =1 A figar oifa |71 L, 3 ol =57 2 {9

e 9 M o1 B fdqay SIff@ 647 L, 38, & dedre! arg faem

Options :

Ly 9 Ly M4 fhada 9 fo¥a Raw ames.

8643517851.

L, Rer ame, < féua 9 faun
8643517852.

8643517853. Ly Re 378, STard i 9 1oz

Ly fe9ra Rer 3 uvr ggera@n fhada
8643517854,
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Question Number : 7 Question Id : 8643512617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC current is given by I=1, sinwt+ [, coswt. A hot wire ammeter will give a reading :

Options :

8643517855. V2

8643517856. b

33
\/I] | Iz

8643517857, 2
|12 12
-1z

8643517858 V2

Question Number : 7 Question Id : 8643512617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
yedEd! 8T [=1, sinwt + I, coswt 37N fofell affe. /9 K 3¥eien 3Hlex  dmEd

Options :

8643517855.

8643517856, 2V

8643517857. \

8643517858.
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Question Number : 8 Question Id : 8643512618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A polvatomic ideal gas has 24 vibrational modes. What is the value of v ?
Options :
8643517859, 103

8643517860, 13U

8643517861, 1-03

8643517862, 1-37

Question Number : 8 Question Id : 8643512618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TEIU] ASY A 24 HUMS UBR HEd. v O Hed fdbdl 3=’
Options :
1.3
8643517859, -

8643517860, 1V

1.03
8643517861.

8643517862, 17

Question Number : 9 Question Id : 8643512619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common
surface is :

Options :
ab
b—-a

8643517863.
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ab
a+b

8643517864.

-b a
ab

8643517865.

.alh
ab

8643517866.

Question Number : 9 Question Id : 8643512619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i@l a 9 b (b > a) B S WEUTE B THA Idd, RS JOHFTE dehdl el

TS
Options :

8643517863.

8643517864.

8643517865.

8643517866.

Question Number : 10 Question Id : 8643512620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A triangular plate is shown. A force F = 4i "*.;r is applied at point P. The torque at point

P with respect to point ‘O’ and ‘Q’ are :

Ya

> X
Options :
8643517867, — 19 — 20¥3, 15 — 2043
8643517868, 15 + 203, 15— 2043

8643517869, 15 — 2073, 15 + 2043

8643517870, — 15 T 2033, 15 + 2043

Question Number : 10 Question Id : 8643512620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tl T8 Safdel aTE. P RigaY F = 41 - 3 w9 @m@e e, ‘O’ 9 'Q W P figada

Ya

> X
= e——10 cm;ﬂQ
Options :
8643517867. V3 NE)
8643517868, 15+ 2093, 15— 2043
204/3, 15 + 204/3
8643517869.
15 + 2043, 15 + 2043
8643517870.

Question Number : 11 Question Id : 8643512621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two identical metal wires of thermal conductivities K, and K, respectively are connected in
series. The effective thermal conductivity of the combination is :
Options :
Ky Ko

K; + Ko
8643517871.
Ky Ks
Ky + Ko
8643517872.
Kp + K,

e

8643517873, 112
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Ki + K»

Ki Ko
8643517874.

Question Number : 11 Question Id : 8643512621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SM THUREl gIg=d1 TR1 Wil 30 dedal K, 9 K, 3HH e e UHaLd wieedl e,

Hyaiid URUFE Sfifre aear 0 dE.
Options :
Ki K
s643517871. 1t K2
7Ky Ko
Ky + Ky
8643517872.
Ky + Ky
2K 4 Ko
8643517873.
K; + Ky
K K2
8643517874.

Question Number : 12 Question Id : 8643512622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms 1 The ball gels

deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic

energy. What is the speed of the ball now ?
Options :

8643517875, 1.00 ms™ !

y r 1
8643517876, 14/ ms

1
8643517877, 1441 ms

14/90
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1
8643517878, 19-0 ms

Question Number : 12 Question Id : 8643512622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T Herl 0.5 kg 1 Hg OHUIANE SEFEST 20 ms~ ! 9N ERTG Wied S, S 9,
HSITUH Aol olid e, SIefell Wi Godiredl s Horedl 5% 1 Wl. Sl dgal a7
fpeit ame?

Options :

1.00 ms !
8643517875.

447 ms™1
8643517876.

14.41 ms ™!
8643517877.

19.0 ms !
8643517878.

Question Number : 13 Question Id : 8643512623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cn.  If the
speed of light in the material of the lens is 2 <10% ms~!. The focal length of the lens is
Options :

8643517879, U cm

8643517880, 12 cm

8643517881, 1 €M

8643517882, 0-30 cm

Question Number : 13 Question Id : 8643512623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

UhT AT Sigdd A= HEgTEl el 3 mm 9 M 6 cm 38, WY P uSTaiel gahremaT

T 2x108 ms ! &, v A &l 00 3.
Options :

=
8643517879, ~U ™

15 cm
8643517880.

8643517881, = ™

8643517882, 0-OU cm

Question Number : 14 Question Id : 8643512624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the single ionized carbon has the same energy as the ground state energy of

h}-’dm gen atom ?

Options :

=

8643517883.

W

8643517884.

o

8643517885.

8643517886.

Question Number : 14 Question Id : 8643512624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T AT DETal Holl, TG AU doredl R TacE 38, ¥ Udel HIvl 387

Options :

8643517883, |

8643517884,

16/90
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b
8643517885.

8643517886, °

Question Number : 15 Question Id : 8643512625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T ! and T2 are mixed so that there is no loss of
energy. If F; and F,, m; and m,, n; and n, be the degrees of freedom, masses, number of

molecules of the first and second gas respectively, the temperature of mixture of these two

gases 15 :

Options :

-I'I 1F1 Tl | I'IEFETZ
8643517887. N T

.I'I lFlTl { I'IEFETE
8643517888, F+E

.I'I ]_F]_ T]. f 112F2T2
8643517889, M1 1+ naky

.I'I 1T1 { I'Isz

I'Il | I'IZ

8643517890.

Question Number : 15 Question Id : 8643512625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S aeYl ggaitad 9] T, d T, A09FN H¥oel ¥ 6 Hoid JHEM el 76, R F, 9 F,,
my 9m,, ny d n, & Yaudl DICI, TRGAM, Y01 H&T IJhH Uleedl 9 gHU1 IIgAS! Aed. g
age fHevE qeEE . 3.

Options :

.I'I]_FITI { I'I?_FzTZ
g { Na

8643517887.

17/90
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anlTl { I'IzeTz

F;
8643517888, 2
. n lFl Tl { 112F2T2
n lFl F 2F2
8643517889.
.I'i lTl | I'isz
iy f Na
8643517890.

Question Number : 16 Question Id : 8643512626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic

oscillation become equal ?

Options :
8643517891, ¥~ T A
8643517892, ¥ =0
— E "‘ji
i
8643517893, Ve
f"'L
Fi= L
-
8643517894 =

Question Number : 16 Question Id : 8643512626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
DIV Ty fHHEe! WRel sad Sl i ol 9 Refie Sl aREl 25a?

Options :

X
8643517891
8643517892, ¥~V

18/90
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A
x=x —
N2

8643517893.
: MCQ Option Shuffling : Yes Is

M| =

e
I

8643517894.
Question Number : 17 Question Id : 8643512627 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The output of the given combination gates represents
Y

A

B
Options :
8643517895, AND Galte

NOR Gate

8643517896.
NAND Gate

8643517897.

8643517898, “OR Gate
Question Number : 17 Question Id : 8643512627 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
e

Correct Marks : 4 Wrong Marks : 1
X

A
19/90

B
Options :
8643517895. AN
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8643517896.

8643517897.

8643517898.

Question Number : 18 Question Id : 8643512628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NOR gX

NAND g

XOR g™

An electron of mass m and a phf}tf}n have same energy E. The ratio of wavelength of electron

to that of photon is : (c being the velocity of light)

Options :

8643517899.

8643517900.

8643517901.

8643517902.

Question Number : 18 Question Id : 8643512628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ E 3 15
\ 2m ;|

1/
c (2mE)“2

m IEAMFA] Seldcidl 4 BIeiHd] Sul £ UREE 5. SeidgiTl aTdidrd BieH sExd

U

Options :

8643517899.

8643517900.

3Te.

1

2

i

( e
2m

N

A

c (ZmE ]'1'E

(c-9ehTem=l o7 311e)

20/90



3/17/2021

1.

L ()
C E J

".

8643517901.

. i
1 ( E 12
¢ \2m

S '

8643517902.

Question Number : 19 Question Id : 8643512629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,
vernier coincidence is 6, then the correct value of measurement is cm.

(least count=0.01 cm)
Options :

8643517903, 508 €m

8643517904, 506 cm

8643517905, 504 cm

8643517906, 536 cm

Question Number : 19 Question Id : 8643512629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ASUATETS] di¥eied] @AY HUTES] 89 ¢ el 0.2 mm IS, @l AT Fell el 39 B

for =Y i ‘0° & 8.5 cm 9 8.6 cm 98 38, @AY WURT 6 38 ¥ HraviEr 3Fg e
cm 38, (FYTH AP =0.01 cm)

Options :

8.58 cm
8643517903.

8.56 cm
8643517904,

21/90
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8.54 cm

8643517905.

8.36 cm

8643517906.

Question Number : 20 Question Id : 8643512630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If an electron is moving in the nt! orbit of the hydrogen atom, then its velocity (v,,) for the nth

orbit is given as:

Options :

i J s
8643517907. 1

(1
8643517908. "

Un
8643517909.

Up &
8643517910.

Question Number : 20 Question Id : 8643512630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n

WY BgN VA geidnid nth HEG AHE e X o EEET 9 (v,) 91 TSN e

Options :

I:III -
8643517907,

U
8643517908,

Un
8643517909,

]
n-

n

=]
pa|

22/90
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1
U, &= —

n

8643517910.
Physics Section B

Section Id : 864351176
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351176
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643512631 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

" . 3 - " " "
For VHF signal broadcasting, __ _ km~ of maximum service area will be covered by

an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take  as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643512631 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

VHF ¥dd TENUMNG, 99l Sieal elaxd 30 m  km? Tdel Hewd 4dl &=ho gui
Pl A, WX AR Al T@Ex odell, gl Brr 6400 km &, (Wdwel QUiiaTde)
(r=3.14 3H =)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
23/90
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Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643512632 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If 2.5 10 "® N average force is exerted by a light wave on a non - reflecting surface of 30 cm?
area during 40 minutes of time span, the energy flux of light just before it falls on the surface

is W/cm? (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512632 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

W} 40 fafe=ar 9o5d 30 cm? WRERT 9 SR YSSHTI=N &FheaY YHIel ael X 9e

25x10"6 N dldci. UHILMHl HTHAE Hol W@ JHT YSHITMEY Tsd
~ W/em? 8. (STaceal QuiaTai) (3191 AT {6 HYul Saeiivur g SHIgRol S el

3Ted)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643512633 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

24/90
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(o

Four identical rectangular plates with length, I=2 cm and breadth, b= cm are arranged

(S

CTeTe ) ] .. Xt ;
as shown in [ igure. The equivalr_-nt capacitance between A and Cis —Y . The value of x is

(Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512633 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

IR THARE AAdIFl U=, F=_L‘xl1ﬁﬁlﬂTH.b=§cn1ﬁﬂT(ﬂ'@ﬁ{ﬂﬂmﬁwm.

A 9 C Al A HRGdl ? dE. xd ™ 3. (JFdosed Quiddd)
A [B C |D
d d d

Response Type : Numeric
Evaluation Required For SA : Yes
25/90
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643512634 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalent resistance of series combination of two resistors is's’. When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512634 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SN VY Toadld Wiigd Tidl Aged Wg’s’ 8. Wl o GHIAY Wieel, ¥9ged VY ‘p’ 6. Wi
s=np, A n o HYdsY i [ e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512635 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back
and forth between the plates with a constant mechanical energy of pl.
(Assume no friction)

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 25 Question Id : 8643512635 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HHIGY TSI WA W= aRedal C=14 pF 3@ o dedH g9Rd $el 39 DI UsHiHde fguaiay

V=12V 3Eel. UHING SN dedl ax Higd Tibell d URiel-dl U8 WOl k=7 38 o

USHME] WX@idel, Fa¥ o USl USHiEed A6 9 Yo sled daa el we Rex gt Sl
p] SMME. (|HUT ATE ¥ HAD

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512636 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

50 that the escape vc-lncit}-' is increased 10 times is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512636 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

gl FEgrEl 5 (R = 6400 km) HUSIA 3ET Bl {6 °4ET 971 10 USH diee O km HE

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643512637 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular spr_-r_-d of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions by the truck engine during this time is

(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512637 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

gl FIerEl B 97 26 Wdhard 900 rpm URA 2460 rpm T4d dGdAl. W1 9@ gdel
AHGAT hofell UNHH W& . (®NU UHHHM 312 39 =)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512638 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Consider two identical springs each of spring constant k and 11egligihle mass cr}mpared o

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
-

The ratios of time period of oscillation of the two SHM is Tl“;fr = \E , where value of x is

S a

(Round off to the Nearest Integer)

LI LI

0000C
00000

B
0000

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512638 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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SrEfgeAH 0 S TeaRE fETEr R Rerie k e M axgarmE T awgaE ey
ATE. AP 1 WUD! U & G JHal 2 Wi Tehwdlaiiel WA SEfad. S |l 3ad flet

SIeTHied] Bl WTE/,E* =Jx oM@, WA xTHE . (Gl Uieudd)

Lt S L] P LT

Tt 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512639 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,

(1) aring
(2) adisc
(3) asolid cylinder

(4) asolid sphere,

of same mass ‘m’ and radius ‘R’ are allowed to roll down without slippf_ng simultanenusl}-'

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

0 N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512639 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Gleilel a5

(1) &

(2 TR

(3) W9 TAdhie

(4) w9 T

& IRgHA ‘m’ 9 B ‘R ARG IR W1 A (A Ueelredl REREw) T OsERd
el J¥7Ted Id ded.  -d Udelredl dodll UEEuR Udell o &, (Y

fecaTyHT 1 9RgET U 3F U &)

ﬂ Wy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512640 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in [ igure. The coefficient of static fricion between the two blocks is —. Then the

=

/

maximum horizontal force that can be applied on the Iarger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms 2]
m
F
M —»

P B & W S T
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643512640 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M B@d (m=0.5 kg @ M=45 kg) SNUREq &GoRmiar caeiay Sdel 3ea ™ arafdel

. S SdouAdge it gy uis > om. M8 e TeRE TREH AR e

-

SPedEY ddciel Hewd e oy g1 N @, (Wdeedl YUiegdd)
[§=9.8 ms~2 =T

]
a |

Ll LS
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351177
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351177
Question Shuffling Allowed : Yes
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Question Number : 31 Question Id : 8643512641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A central atom in a molecule has two lone pairs of electrons and forms three single bonds.

The shape of this molecule is :
Options :

planar triangular
8643517921.

8643517922, L-shaped

8643517923, SC€SaW

8643517904, Tigomal pyramidal

Question Number : 31 Question Id : 8643512641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl HYIGIel $Hald HUEY S fdfdad seigeiH 7 3&d 9 ol OF Udhel 98 TN Bdl. ol

HWLTET PR e,
Options :

8643517921. !

8643517922. Ll

8643517923. ALl

o e

8643517924.

Question Number : 32 Question Id : 8643512642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643517925, aerosol
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8643517926, solidsol

8643517927, oam

8643517928, 8¢

Question Number : 32 Question Id : 8643512642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ul =T B AUEHRU] Hleied] Hicdel T TEUTAI.

Options :

8643517925. !

8643517926, 91 SIC

8643517927, P9 (BH)

8643517928, I

Question Number : 33 Question Id : 8643512643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain enthalpy of halogens satisfies :
Options :

8643517929, F > C1> Br >1

8643517930, <1~ F >Br>1

8643517931, <1 > Br>F>1

8643517932, 1> Br>Cl>F

Question Number : 33 Question Id : 8643512643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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EeAroreed Setde I el $ael qed Rifen.

Options :

F>Cl>Br>1

8643517929.

Cl>F>Br>=>1

8643517930.

Cl>Br>F>1

8643517931.

[>Br>Cl>F

8643517932.

Question Number : 34 Question Id : 8643512644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

[h]
-100+
-!.-C'Ll + 03 —3 E-C"JED
200
]
B g
g o ﬂ?e*o Ao,-;m,
= 400
[r— < —
§ Sy 2250 23 200
—

g 600 an*
[w]

-T00—
3 A

-800 - 'lllaﬂqoa "

(a1
—Qm I &IE’.N‘ *
- ‘ngn
- lﬂm _ ‘E,ME- + D]
1100~
1200
: L I | 1 L I | | |
0C 400°C B00°C 1200°C 1600°C 2000°C
273K 673K 1073 K  1473K 1873 K 2273K
—— Temperature
Options :
8643517933 AG < 0 and decomposition of the metal oxide

8643517934.

AG > 0 and decomposition of the metal oxide
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8643517935.

8643517936, AG =0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643512644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AG=0 and melti_ng or bc-ﬂing pnint of the metal oxide

Glelldl 3Mdd Balsg Sl Thed dIeUINI d9¢ 3JdH ENIEGIGE
0
-100+—
ACu+ Dz -3 ZC'JED
2001~
L
g *].‘EG*D‘ C+0,—CO.
E 400
= a00F
5 iy ‘IIEDJ 2C+ O
E —EDG '],':-0 x o qilﬂﬂ 3 EEO
3 Q
g 600 gt O
]
700~
=] A
-B800 9 II.EP;',OG ’
800 g
— omgD
1000|- e+ O
1100F
-1200—
| | | | | L I | l |
o= 400°C Bo00°C 1200°C 1600°C 2000°C
2AT3 K 673 K 1073 K 1473 K 1873 K 2273 K

Options :

8643517933

8643517934

8643517935.

8643517936.

— 5 Temperature
AG < 0 3T engE ffewged fameT
AG > 0 Sfr e AFEgey faEed
AG=0 3nfor arg=ar Afeasedl Savliie HAA] Scharlid

AG=0 3nfor grg=a1 qaged &uu
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Question Number : 35 Question Id : 8643512645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) wused for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :
Options :
8643517937, (&) Oy

8643517938, (B) only

8643517939, () only

2643517940, \B) and (D) only

Question Number : 35 Question Id : 8643512645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
We uvgrHeHldie gard/garl faar/ faam e/ e

(A) deilg Held FaEe =U 9.

(B) Tdiedl RGN SU—ge =0 fHed.

(C) affHfcha=al Thar—Tafe=ar AR SUara 4.
(D) UvaEn g wifded Rerie WRd ae.

el feied WaRgE 9 9O e
Options :

8643517937. ©

8643517938. (B)

8643517939. (D)
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8643517940, P4 (B) ST (D)

Question Number : 36 Question Id : 8643512646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :

8643517941, €5 > Rb" > K* > Na"

a < =+ ] o+
8643517942, Nat >K* >Rb* > Gs

+ - —~ 4 '
2643517943, K > Na® >Cs™ >Rb

8643517944, Rb* > Na™ > K* > Li*

Question Number : 36 Question Id : 8643512646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UTile] Al diedhadl gY@y $hH _ 3.

Options :

—_ 4 b b .
8643517941, €5~ > Rb™ >K" >Na

b b b —_ 4
864351794y Na* >K* >Rb* > Gs

t ot } ;
643517943 K&~ > Na® >Cs™ >Rb

b -t b :
8643517944, RP~ > Na® >K% > Li

Question Number : 37 Question Id : 8643512647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compound CANNOT act as a Lewis base ?
Options :

CIF
8643517945, 3
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8643517946. s

8643517947. NEs

S 4
8643517948.

Question Number : 37 Question Id : 8643512647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GeeU®! DIV | oAfaE AFAR] = S Hed ATl ?
Options :

8643517945, “1F3

8643517946. PCl;

8643517947. Sl

SF
8643517948, ~ 4

Question Number : 38 Question Id : 8643512648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643517949, 20

o
8643517950, 220

)
8643517951. 27

8643517952, “€T0

Question Number : 38 Question Id : 8643512648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Tepl U] 3h 25 AT fEHgSil g A AR Javkie WH-%aa (BM) Jga
Ul fhaa fae s ?
Options :

5.0
8643517949.

8643517950, 20

8643517951. 3.92

8643517952. R

Question Number : 39 Question Id : 8643512649 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Potassium permanganate on heating at 573 K forms potassium manganate.

Statement 11 : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

8643517953, both statement I and statement Il are false

3643517954, Both statement I and statement 1l are true

8643517955 Statement I is true but statement 11 is false

8643517956. Statement 1 is false bul statement 11 is true

Question Number : 39 Question Id : 8643512649 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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et 29 g e amed.
a1 : O™ wEFe 573 K 99Fe TRE $el I9dl Ueiey ¥ 9O 2.
M I : SF2 UicRism gwE™e aftn dieRiem Wi T Sguutel AT Hges aied.

aRIe [TEMAT 3o Ghelldl WA arg 9o e,
Options :

8643517953, el fau 1 anfor fagm= 1 S e,

8643517954, SISl TET 1 o7 farems 11 & airea.

8643517055, T 1 TR Sfor faur 11 @Ie &me.

864351795 198 1 WIC SM1for faum 11 =y ae.

Question Number : 40 Question Id : 8643512650 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

8643517957, Smoke, fog and ‘D3

8643517958, Smoke, fog and EDP_

8643517959, Smoke, fog and N203

8643517960, omoke, fog and CH, =CH-CHO

Question Number : 40 Question Id : 8643512650 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HUUPRSD YRR [LEUEECIES
Options :

, afer O
8643517957. T 9o 3

42/90



3/17/2021

, anfor SO
8643517958. T 99 A

T NLO
8643517959. . g9 e

8643517960, = g 3T CH, =CH -~ CHO

Question Number : 41 Question Id : 8643512651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement 1 :  Retardation factor (R) can be measured in meter/centimeter.
Statement Il : R, value of a compound remains constant in all solvents.
Choose the most appropriate answer from the options given below :

Options :

2643517961 Both statement I and statement Il are true

Both statement | and statement Il are false
8643517962.

8643517963 Statement [ is true but statement 11 is false

8643517964, Statement 1 is false bul statement 11 is true

Question Number : 41 Question Id : 8643512651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Glefl 3 fagr fdefell 3imed.

faur1: Hed YU (R,) Hew/HEHeY 98l Hiwar Adl.
faam 11 : HgmaE R, 9 f6Hd W4 SEb ARER .

NI fagFiT SaoT Gelld WHigHgT arg 9ox Fds.
Options :

9643517961, g2 faur= 1 s fgum= 1 =9 aned.

8643517967, SIel T4E 1 SIfor faer 11 &rel aimed.
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8643517963, faum= 1| @Y e anfor faum= 1 S ae.

8643517964, faum= 1| @i ame anfor g 1 =y are.

Question Number : 42 Question Id : 8643512652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is an aromatic compound ?

Options :

8643517965.

8643517966.

8643517967.

8643517968.

Question Number : 42 Question Id : 8643512652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GrefiAu®] SHICD YT DIV S 7
Options :
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8643517965.

g

8643517966.

8643517967.

8643517968.

Question Number : 43 Question Id : 8643512653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HISr

Ty T

(Major Product)

Product “A"” in the above chemical reaction is :
Options :
Br

CH,
8643517969. “
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Br

CH,
8643517970, CHy
Br
CH,
8643517971. Hy
Br
CH,4
8643517972. CHs

Question Number : 43 Question Id : 8643512653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— HBr
< P
CH, 4 (W@3ER)

TN JEaHE AfHfEdde 9dE “A” e
Options :
Br

8643517969.

8643517970. CHj
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Br

CH;

CHj
8643517971.
Br
CH,
CH;
8643517972. -

Question Number : 44 Question Id : 8643512654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 O Na™

+ NaOH

v

The above reaction requires which of the following reaction conditions ?
Options :

= » |
8643517973, 023 K, Cu, 300 atm

8643517974, 273 K, Cu, 300 atm

8643517975, 023 K, 300 atm

8643517976, /2 K, 300 atm

Question Number : 44 Question Id : 8643512654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cl O " Na™t

+ NaOH »

NI AMARIAIS! Feflclud! Hurdl fhde IRREREN TRy a7
Options :
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g |
2643517973, 023 K, Cu, 300 atm

2643517974, /2 K Cu, 300 atm

623 K, 300 atm
8643517975.

573 K, 300 atm
8643517976.

Question Number : 45 Question Id : 8643512655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :

: F - i I
8643517977. 4-Methyl pent-3-en-2-one

8643517978, 2A-Dimethyl pentan-3-one

j" . F T "
3643517979, © Methyl cyclohexanone

643517980, " Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643512655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST SideEe 8 O Ha9igRU Ad 3.
Options :

8643517977 A= Ue-3-39-2-3H
8643517978, 2A-SHAHAEE UTH-3-311

- AOFATBFATA
8643517979, 2-HATEA

qEd HddAleds
8643517980, 311 EIEILEIEES

Question Number : 46 Question Id : 8643512656 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Hoffmann bromomide degradation of benzamide gives product A, which upon heating with
CHCI; and NaOH gives product B.

The structures of A and B are :

Options :
O O
? _NH, ?T :[\'H._;_
o o CHO
8643517981. Br s
NH, NC
& -4
8643517982.
NH, NH,
8643517983, Br Br
NH, NH,
R e ij/ﬁ (®)
8643517984

Question Number : 46 Question Id : 8643512656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dHMIgSHl %A MRS faueaH Swe A e, 9 CHC, 81for NaOH SR1ER dfaedrs

9dE B <4l

A o B =1 E3aHn 3Tad.
Options :
49/90
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O O
NHE I\.'I-Iz
CHO
A — B —
Br

8643517981 -
NH, NC
NellNe
8643517982.
NH, NH,
8643517983 HE o
NH, NH,
& &
8643517984

Question Number : 47 Question Id : 8643512657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

Ethylene Glycol
wylene Glycol "

OC,Hs »
HY (Major Product)

The prnduct “A" in the above reaction is :

Options :
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OH

P

O O

OCoH5

O
OH

O

8643517985.

8643517986.

4

/ OCsrHs

OH

8643517987.

O
G><UL
OCoHs

8643517988.

Question Number : 47 Question Id : 8643512657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q Q
AT TR
OC,H: | > A
H (9@ 373

e ARG IdE “A” e,
Options :

NOH

O 0

M
OCoHg

8643517985.
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8643517986.

OCsoH5

\DH

O
D><w\
OCoHg

8643517987.

8643517988.

Question Number : 48 Question Id : 8643512658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnllnwing reaction is an Dxamplc- of ammm‘ml}fsis ?

Options :

| 3 ; ;
8643517989. © . B Rt - 6 5 6

C.H-CH,CN _Hl , C,H.CH,CH,NH
8643517990, © 2 27 T 7 N6 22Tl

CH-.CH,Cl1+NH; — , C;H.CH,NH
8643517991, © 7 2 G T Ly

CH.NH,_HA _ ¢,

8643517992.

Question Number : 48 Question Id : 8643512658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Heilelus! DIV Afafhar & FHFIARNTd 9B s 7

Options :
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C,H.COCI+C,H.NH, - C,H.CONHC H,
8643517989. =

CH-CH,CN _Ml . C H.CH,CH,NH
8643517990. T A T LR e

264351799] b Iy — LN

8643517997, CotsNHy —HE . CgHs NH;Cl

Question Number : 49 Question Id : 8643512659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

8643517993, Competitive inhibitor binds to the enzyme’s active site

8643517994 Allosteric inhibitor changes the enzyme’s active site

8643517995 Allosteric inhibitor competes with the enzyme’s active site

8643517996, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643512659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ag—Tapy IUARbAdS e gl fdgM sl
Options :

8643517993, HaIAD HIAD IRl fHARIel ¥l 9 Bl

8643517994 Acirecy] HeAd faevr=ar frareia e 9sodl.

8643517995, JeieCyl e famvrear fawiel SMHEREY ¥WEi Syl

2643517906, FIAHD HHD AN TIFENET 9 2l

53/90



3/17/2021

Question Number : 50 Question Id : 8643512660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the foﬂowing is correct structure of tyrosine ?

Options :
COOH
HoN %,DI{
8643517997.
COOH
H,N 5|
OH
8643517998.
COOH
>N H
OH
8643517999.
COOH
H,oN H
OH
8643518000.

Question Number : 50 Question Id : 8643512660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Geelud] SRl g3EY |Ya- DIl e 7
Options :
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COOH

H,N —% OH

8643517997.
COOH
H,N H
OH
8643517998.
COOH
H,N H
OH
8643517999.
COOH
H>N H
OH
8643518000.
Chemistry Section B
Section Id : 864351178
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351178
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643512661 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solution is =102,
(Round off to the Nearest Integer).
[Given : Atomic masses : H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643512661 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 Hiciel Weild STaUIkilel bl STedrar FHYU] 379 %1072 @&, (Slde=dl Yuiied)
[ fetel ame @ 3] I&gaH :H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643512662 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of
carbon dioxide in a 10 L vessel at 27°C is ~ kPa.

(Round off to the Nearest Integer).

[Assume gases are ideal, R=8.314 | mol L1

Atomic masses : C: 120 u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

56/90



3/17/2021

Question Number : 52 Question Id : 8643512662 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6.4 g M M1 8.8 g HIE- SHSGEISSA SbAEA ag FHM 10 L SAGRAMRA Hisdmd

27°C o _ kPa T faell. (Gide=al quiichia)

[ 3ael 9y T ¥ HHGN, R=8.314 J mol ! K~!
U oA : C:120u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512663 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

_. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512663 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TP BEFGACI n=4 M m = —3. T B! IR Arsdl H=
qurichTe)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

57/90



3/17/2021
Question Number : 54 Question Id : 8643512664 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The standard enthalpies of formation of Al,O, and CaO are — 1675 k] mol ™! and
635 k] mol 1 respectively.
For the reaction
3Ca0O+ 2A1 — 3Ca + Al,O; the standard reaction enthalpy ATH“ = kJ.
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512664 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ALO, 3T CaO &= Hsvmel HHE Tl 3gdH 1675 K] mol ~! T — 635 k] mol !
3Ted.
CIRIEREIE

3Ca0+2Al — 3Ca + ALO;, A& AMHFIT T-Iadr A HY = k] e, (Sao=n

TteTa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643512665 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is x10~> mol dm 3,
(Round off to the Nearest Integer).
[Given: Henry's law constant = K; =8.0x10* kPa for O,.
Density of water with dissolved oxygen = 1.0 kg dm ]
Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643512665 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TTUATd fq¥eeeied] Sifdaa-al Urvgradiel aibd 20 kPa Udel Hif¥id @ 38, Hlfddor-dl
TN YAV FEUgen %1075 mol dm~3 8. (Tdsdl YUiihId)
[feotel &g : =g FamEn ReRie =Ky =8.0 x 10* kPa O, Wrél

favemeredr Sifdae HiEd UvarEl 9-di=1.0 kg dm 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512666 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0 x10"°) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociationof HAis __ %10 > (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512666 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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0.01 Hiel U &9 3l HA (K,=2.0x1076) ¥ 1.0 L, 0.1 M HCI =1 <19vnd favesdael. HA

91 famons _ %1075 S, (Sasl UiaT)
[ HA fAeed MeRAMRI dg5a Wrgd @l
A fagvone <<1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512667 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 ml of aqueous solution of Fe?*' in acidic medium completel}f reacted with 20 mL of

0.03 M aqueous Crzﬂfj‘_. The molarity of the Fe** solution is  x1072M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512667 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3TFe HEAIT 15 mL Fe? * T Welld w1Gurdl Wquf e 2vamard 20 mL 0.03 M Wil Cr,02”

rTel.  Fe?t S@uiEl FANULED %1072 M 3me. (Sgosedn quTideTd)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 58 Question Id : 8643512668 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of
this reaction is  x10-3 g1, (Round off to the Nearest Integer).
[Given : log,;32=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512668 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Uhl YIH Hleredl fpdarel 32% AMHfEI 570 s av fieeis Yfgedr. =20 fhaae! Tl Reris

_ x1073s71 e, (Sawe quiie)
[ feetel & : log,,2=0.301, In10 =2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512669 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of A" with excess of AgNO, in aqueous
medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 59 Question Id : 8643512669 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

Uiedl BIEhYadl Jchelddgd I dIdExvid Ihodredl AfHfFATT I ‘A’ TN Hiedl.
1 mol ‘A’ =1 W AgNO, =1 Wil ATEgHRiel SfHfeRad mol(s) Ag ¥ TR

2rTd. (Wdowl quiard)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643512670 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,S0,

i
.l

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reactionis ___ %. (Round off to the
Nearest Integer).

(Given atomic mass: C: 12.0u, H:1.0u, O: 16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512670 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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NO,
HNO;
H,50,

NI JHPAT 3.9 ¥ 95 TN 4.92 99 TEcEEH fwel. o€ fHfedde AagEE=a

bS] WS
[E?]E*‘i s - UL A 1 C:120u, H: 1.0y, O:16.0 u, N : 14.0 u]

_ % M. (Ao guliea)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351179
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351179
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643512671 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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In a school, there are three types of games to be played. Some of the students play two types
of games, but none play all the three games. Which Venn diagrams can justify the above
statement ?

P Q R
Options :
8643518011, L and Q

8643518012, L and R

8643518013, 2 and R

8643518014, None of these

Question Number : 61 Question Id : 8643512671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T e HEY, OF YHNRY We Woel uaK. diel [dendl aF YeRY Wo W, Ug |d af
W Webd A&l DIV 99 H1Hdl (Venn diagram) INIel gD 9T $6 Uha ?

P Q R
Options :

8643518011. = Q

8643518012. 4 .
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8643518013. Q R

8643518014. e

Question Number : 62 Question Id : 8643512672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the triangle with vertices A(z), B(iz) and C(z +1iz) is
Options :

1
2
8643518015. <

1
9
8643518016. ~

M| =

8643518017.

8643518018. 2

Question Number : 62 Question Id : 8643512672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A(z), B(iz) 31 C(z +iz) RBRIfdg =g o &b

o oo R
Options :
1
— |z + iz
2
8643518015.
l o5
5 £
8643518016. =
2
2
8643518017.

8643518018,
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Question Number : 63 Question Id : 8643512673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; (0 sine | ' E e 1 o
If A= . and det | A —I | =0, then a possible value of « is :
| SIne 0y | 2 )

Options :

w
8643518019, +

-

3
8643518020,

v
8643518021. b

-

r}
8643518022, <

Question Number : 63 Question Id : 8643512673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(0 sinc | / 1Y
Lt T det | A% — =I| =0 3M&, T o T UG A (possible value)
| Sina 0) L 2
________ e,
Options :
.’.'I'
8643518019, *
.Tr
3
8643518020.
.TI'
6
8643518021.
.Tr
2
8643518022.
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Question Number : 64 Question Id : 8643512674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The system of equations kx+y+z=1,x +kyt+z=k and x+y +zk= k2 has no solution if k is
equal to :
Options :
8643518023. 0

8643518024,

8643518025, 1

I

8643518026.

Question Number : 64 Question Id : 8643512674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
kx+y+z=1, x +tky+z=k 31T x+ y+zk=k> a1 FHHUNHl $bel el (no solution)
UUlleil 3&, W¥ k aR@EY 3TE.

Options :
8643518023.

8643518024.

8643518025.

I3

8643518026.

Question Number : 65 Question Id : 8643512675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Team ‘A’ consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52

single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :

Options :
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>
8643518027. <
8643518028.
8643518029.

8643518030.

Question Number : 65 Question Id : 8643512675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘A’ UM 7 Hel 10T n Heil JTeEd 1T ‘B HHMET 4 Feol 3101 6 Heil M&d. WY o1 S Heide]
TRHUT 52 THI e (single matches) AT $el IAE B W@ Th Joim, Tl Jardl faog

Eobed MO T Fedill, Thl el fdog Wosed, ¥ n SREY _ TS
Options :

I3

8643518027.

8643518028.

8643518029.

8643518030.

Question Number : 66 Question Id : 8643512676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the fourth term in the expansion of (x 1 21982 7 is 4480, then the value of x where x € N is
equal to :

Options :

8643518031,

2
8643518032. ~

8643518033. 3
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8643518034. .

Question Number : 66 Question Id : 8643512676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(x + xlog2 ¥)7 I1 TR 2 UF (fourth term) 4480 3118, T x o H{od SRER e,

ol x e N.
Options :

=

8643518031.
8643518032.
8643518033.

8643518034.

Question Number : 67 Question Id : 8643512677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The value of 4 ] is :
5 4 q
4 4 {
5 4
4+ ... x
Options :
: o)
2 30
8643518035. 5
2 + 2 .30
8643518036. Vo
5 4 < 30
8643518037. 3
._1 L
4 4 I—I,gw"..f]
8643518038, v

69/90



3/17/2021

Question Number : 67 Question Id : 8643512677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
4 4 : I I | -
54 1
44 :
5
Fr—
Options :
2
2+ =430
8643518035.
4 LE 4
2 + —A/30
8643518036. 5
5
5+ =430
8643518037 >
_ .
4 + —-f30
J5
8643518038

Question Number : 68 Question Id : 8643512678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot~{a)=cot~ 12+ cot~18 +cot~118 +cot— 132 +..... upto 100 terms, then « is :
Options :

8643518039, 1-00

8643518040, 1-01

8643518041, 1-02

8643518042, 1-03

Question Number : 68 Question Id : 8643512678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

WX cot~l(a)=cot =12+ cot~18 +cot~ 118 +cot 132+ ..... 100 ST, SR o e,

Options :

8643518039. Y

8643518040, 101

2
8643518041. 1.02

8643518042, 1-03

Question Number : 69 Question Id : 8643512679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of Y= slogx jg

Options :

' 1

x =58
8643518043.

1

x=1y o0
8643518044, .

-— elogy
8643518045, © 7

x = y]:}EE
8643518046.

Question Number : 69 Question Id : 8643512679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y= slogx o1 =g (inverse) e,

Options :

x=5"°8Y
8643518043,
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¥ og5

8643518044.
x = 5logy

8643518045.
logh

8643518046. * V¥

Question Number : 70 Question Id : 8643512680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lim cos”x — [x]?) - sin™!(x — [x]?)
.
x—0 x — x3

The wvalue of , where [x] denotes the greatest

intoger =X 18

Options :
av
4
8643518047.
8643518048, U
. i1
;
8643518049, <
8643518050,

Question Number : 70 Question Id : 8643512680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R T R e
lim, cos”( hyjh? la “]Jﬁmﬂ ________ 3T, S [x] & x a1 x e @A

=07 !
xX—x

SV HewH YUlid (greatest integer) SEIfdd.
Options :

A5

4

8643518047.
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0
8643518048.

Ml'—].

8643518049.

8643518050.

Question Number : 71 Question Id : 8643512681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(«) for a € R such that

sin®x

gla) = dx

cos®x + sin®x

[ ey ]

Options :

8643518051 g(a) is a strictly increasing function

8643518052 g(a) is a strictly decreasing function

1
g(a) has an inflection point at « = 5
8643518053.

g(w) is an even function
8643518054.

Question Number : 71 Question Id : 8643512681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a € R €61 g(a) I Bl |IS! Giellddd! BV a8 e e, o9 3

sin“x

gla) = dx ?

A

cos®x + sin“x

Options :

cca351805] B(@) T PICHR TN TG Hef 3MTE.
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g(a) & PICHR UUT Hed (decreasing) Hal e,
8643518052.

g(e) T o= >

— = AfafRad (inflection) ]%Iq\{ﬂ'l%’
8643518053, 2

8643518054, (% € TP WA Bl .

Question Number : 72 Question Id : 8643512682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

d
ﬁ =xy—1+x—y;y0)=0:
Options :

' |

¥ilj=e = —1
8643518055.

' 1

y(1) =e2 — 1
8643518056. y()

1 A

y(1) =e? —e 2

8643518057. y()

8643518058, V(D=1

Question Number : 72 Question Id : 8643512682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o %=,‘t‘y 1+x —y; y(0)=0 A APl FHHUTE FHIEE BN y(x) HS Gelledd!

IV e (true) 3ME 7
Options :

8643518055.
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1
8643518056.
1 —1
y(1)=e? —e 2
8643518057.
1) =1
8643518058. y{ )

Question Number : 73 Question Id : 8643512683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, —2) respectively.
If the equation of the perpendicular bisector of PR is 2x —y+2=0, then the centre of the
circumcircle of the APQR is :

Options :

8643518059. (1 4)

8643518060, (0- 2)

(-1, 0)
8643518061.

(—2

I3
L

8643518062.

Question Number : 73 Question Id : 8643512683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2T PQR #ed, P o1 Q a1 &gy a9® (co-ordinates) TP (2, 4) 3o (4, —2) 3MEd.
WX PR =1 &g gUTdT (perpendicular bisector) = HHIGRU 2x —y+2=0 &, T APQR =41
Hﬁ?i—sir_ﬂ (circumcircle)dl $%fEg (centre) e

Options :
3643518059, (1 4

0, 2)
8643518060.

(-1,0)
8643518061.
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. 2
8643518062. =g

Question Number : 74 Question Id : 8643512684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x—y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle
lies on x — 2y =4. Then, the radius of the circle is :

Options :

53

8643518063, °V°

8643518064, V4

8643518065, V5

BN
8643518066. 35

Question Number : 74 Question Id : 8643512684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2x—y+1=0 & Y& agorean (2, 5) A1 g afid W@l (tangent) 32 30T dgeral baidg
x-2y=4 T VWX Req M. W 9o Bewm . a7,

Options :

8643518063, V3

3643518064, 3VE

i

8643518065.

8643518066. 35

Question Number : 75 Question Id : 8643512685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Choose the incorrect statement about the two circles whose equations are given below :
x4 y?- 10x —10y +41=0 and
xZ A yz l6x — 10y +80=0
Options :

8643518067 Circles have two intersection points.

2643518068, Doth circles pass through the centre of each other.

643518069 Both circles’ centres lie inside region of one another.

Distance between two centres is the average of radii of both the circles.
8643518070.

Question Number : 75 Question Id : 8643512685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x2+y2—10x — 10y +41 =0 {01
x2+y?—16x — 10y +80=0 2 SF dgjordl HAGRU el 3. U1 SF dy@ieEd a3Ey Tqeld]

(incorrect) Tqgr= =ner.
Options :

8643518067. «j SR ﬁq‘ Sligd

8643518068,
8643518069. A8 T F TH TR AR WG SAEd.
8643518070, Sl darel A9l 3a¥ SEl dgoiedl Bl WX s,

Question Number : 76 Question Id : 8643512686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
is :

Options :
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8643518071, X 1z=6

8643518072.

8643518073, ¥ 13z=0

8643518074, %

Question Number : 76 Question Id : 8643512686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(1, 2,3) a1 fdig AT UMY AT y-SHEMAT HHGT (contains) EUIAT Yeielrd HHIHUI

e
Options :

8643518071, X tz=6

x+3
8643518072.

8643518073.

3x
8643518074.

Question Number : 77 Question Id : 8643512687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (p = q) < (q = (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :
8643518075. F — 4

L ity
8643518076, © 1
8643518077. 17 P

8643518078, 1P
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Question Number : 77 Question Id : 8643512687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WX (p = q) = (q * (~p)) & T Y=Eel (Boolean expression) 3T (tautology) &, X

p#*(~q) & geii¥ Usmdell ¥ W9 (equivalent) 3.
Options :
8643518075. =

8643518076, F "4

8643518077. 17 P

8643518078, 1 P

Question Number : 78 Question Id : 8643512688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let a =2i —3j +4kand b =7i + j — 6k.

n

xb, 1-\i+2j+k =-3then 1 -(2i —37 + kisequal to:

—— — ——
T

Ifr xa=
Options :
8643518079.

8643518080.
8643518081. ~~

8643518082 10

Question Number : 78 Question Id : 8643512688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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WAA  a=2i -3j+4k T b=7i+j-6k WX rxa=rxb,
r - i +2j +k)=-3, R r |2 ?r; I Fc] WER 3
Options :
8643518079, ©
8643518080.
12
8643518081,

8643518082, 12

Question Number : 79 Question Id : 8643512689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two dices are rolled. If both dices have six [aces numbered 1, 2, 3, 5, 7 and 11, then the

probability that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :

8643518083.

8643518084.

8643518085, 36

N |

8643518086.

Question Number : 79 Question Id : 8643512689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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S BN (dices) fvdlel (rolled) 3&d. WX Sl BIRYHT Tl TIv] (faces) JT&d 0T T T
o1 1, 2,3, 5, 7 0T 11 1 W& fhd 3Mmed, T¥ 1 BRI aNId (top) STo[d 8 fdhar 8 uam
ol AT HEUAl d¥uidl AUl (probability) e,

Options :

5
12

8643518083.

8643518084
17

8643518085.

er—v'

8643518086.

Question Number : 80 Question Id : 8643512690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| .r
: \| = tan 1]%:| is :

i
The sum of possible values of x for tan 1(1’ + 1) + cot 1] 1
X 7

Options :

8643518087. 4

8643518088. 4

8643518089.

8643518090. &

Question Number : 80 Question Id : 8643512690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

i .]. % i 8 Y ;
tan (x + 1) + cot 1| - | = tan 1| 3 | WSl x =1 9@ HAEl (possible values) S¥IW
WX ri e F
.
Options :
33
8643518087.
32
4
8643518088.
31
4
8643518089.
30
4
8643518090.
Mathematics Section B
Section Id : 864351180
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351180
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643512691 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy +12, where 3x+4y = 100 and
4x+3y =75 forx = 0andy = 0is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
82/90



3/17/2021

Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 81 Question Id : 8643512691 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

z=6xy+y> Al THIGIUHE] z d HHA A& (maximum value) Ae, Wl
3x+4y = 100 3MOT4x+3y = 75, x = 0 Ty = 0 I,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512692 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
]m}l is equal to _

> 3 : ;
If A= L} 1], then the value of det(A%) + det{ A0~ (Adj(2A)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512692 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

0

3 i g "
J, T det(A?) + det(A10-(Adj(2A4))"?) ¥ T WX e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 83 Question Id : 8643512693 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)%762 is divided by 17, then the remainder is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512693 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WY (2021)°762 7 17 A 9T (divided) 38, ¥ ¥d1 (remainder) HE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512694 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

xd-

If the function f(x)=

is continuous at each point in its domain and

f(0)= % thenkis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512694 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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flx) = ‘:ﬂﬁismxi CON | ¥ Bel TSl AW YIS f§gaY WA9 (continuous) 3ATE SMOT

X

.f{U) = % Wk __ am

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512695 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If [ - | represents the greatest integer function, then the value of
Wz

I[[IE] cnsx} dx| is

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512695 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
i
WY [ -] & WETH QIS (greatest integer) Be FEif, T | | [[IE] CDH} dr|dqE_

0

e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 86 Question Id : 8643512696 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum distance between any two points P, and P, while considering point P, on one

circle and point P, on the other circle for the given circles’ equations
x2+y2—-10x—10y+41=0
x2+y?—24x 10y + 160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643512696 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x2+y2—10x— 10y + 41=0,

224y 24x 10y +160 =0 & agBal TG fooiell ea @ Jal P, &g va1 ageEs anfor
P, Tiig TH Ig@Ex 3ME I & Hael ax, P, 1P, 1 S fig Al f6AH (minimum)
I e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512697 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f the equation of the plane passing through the line of intersection of the planes
2x—7y+4z—-3=0, 3x—5y+4z+11=0 and the point (-2, 1, 3) is ax + by+cz—7=0, then

the value of 2a+b+c¢c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643512697 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WX 2x — 7y +4z—3=0, 3x — 5y +4z+ 11 =0 AT Ydeiical Waidl Y91 01 (-2, 1, 3) a1 f&dg A
STl YAt FHI$R ax + by +cz—7=0 &, W 2a+b+c-7 I o8 _____ 3TE .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643512698 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E;, E, and E,. The probability that only E; occurs is «,
only E; occurs is 5 and only E; occurs is y. Let “p’ denote the probability of none of events
occurs that satisfies the equations (a—2B)p=ap and (§ —3y)p=2py. All the given
probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of E

Then, is equal to

Probability of occurrence of E4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643512698 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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GHG AY E,, E, 3MTE, A1 T 3FfEA (independent) HeAT 3ed. W E, HSUATEl HHIeddr
o, E, TSUOE WUl 30T E, HSUAEl WUl y &, W PIORE HeAl 7 HSva]
HHTedl “p’ SEfad G O (o —2B)p=af M7 (B —3y)p=28y & TGV Wi S, Hd A

.Elﬂmﬂﬂﬁﬁﬂmﬂ'{ - .

a1 (0, 1) HEI Jdd 3 §Aal. oY Eyo =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512699 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

: 122
If X =5m{c05 1[—_
f) ‘ 1+2%

\ ‘__n'/l

T T : N
and its first derivative with respect to x is — —log, 2 when
a

= 5w 7 F] =
x=1, where a and b are integers, then the minimum value of | a=—b“| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512699 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10T x =1 HWEHId (with respect) Ufge] fdderd (first derivative)

Py

’ gl W= 2
WY f(x =51n{cns [—‘
f(x) ‘_ 1725

E]nge 2 3Te, WLl x=1 S, W a A b 2 QNG (integers) 3T, T [a2 — b2| T fHAM =4
d

(minimum value) __ .

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 90 Question Id : 8643512700 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If a —ai +pBj +3k,

b = [5{ r.t-_;‘: L and

—

such that a - b =1 and E -

L

c = —3, then ;[{

E] , E}| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512700 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WX a —ai +pj + 3k,

b = [:’:{ n;‘ ﬂ o

r
I
(=]
=i

—

T B a-b=1dMb-c= 3,?1?%[_{;x;],j]a‘\f‘m_ 3e.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100
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